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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 2nd Semester Examination, 2022 

CEMHGEC02T/CEMGCOR02T-CHEMISTRY (GE2/DSC2) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 SECTION-A / েËণী-ক 

 Answer four questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট চারিট  pেűর উtর দাও 

 Unit-I / একক-১ 

1.  (a) From 231 mncPV , deduce average kinetic energy per mole of a gas molecule at 
a definite temperature. 

231 mncPV  হইেত িনিদর্Ŷ উŹতায় 1 েমাল গয্ােসর গড় গিতশিkর সমীকরণ িনণর্য় কেরা। 

2

(b) Write down Maxwell’s expression for the distribution of molecular velocities in a 
gas. 

েকান  গয্ােসর আণিবক েবগবĊন সংkাn ময্াkওেয়েলর সমীকরণিট েলেখা। 

2

(c) Draw Maxwell’s velocity distribution curve at three different temperature 
)(and, 123321 TTTTTT . 

21, TT  ও )( 1233 TTTT -তাপমাtায় ময্াkওেয়েলর আণিবক েবগবĊেনর েলখিচt অìন 
কেরা। 

2

  
2.  (a) Write down Van der Waal’s equation in case of n- mole of a real gas. Write down 

the units of ‘a’ and ‘b’ in this equation. 

n-েমাল বাsব গয্ােসর জনয্ ভয্ান-ডার-ওয়ােলর সমীকরণিট েলেখা। এই সমীকরেণ বয্বhত ‘a’ ও 
‘b’-এর এককgিল েলেখা। 

1+2

(b) Calculate the pressure of 3 moles of a Van der Waals gas in a container of 20 litre 
at 27°C. )lit.mole0.056;.moleatm.lit6.5:Given( 122 ba . 

3 েমাল েকােনা ভয্ান-ডার-ওয়াল গয্ােসর 27°C উŹতায় আয়তন 20 িলটার হইেল উহার চাপ কত 
হইেব ? (pদt: 122 lit.mole0.056;.moleatm.lit6.5 ba )। 

3
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 Unit-II / একক-২ 

3.  (a) Define surface tension of a liquid. Write its SI unit. What is the effect on surface 
tension of water when soap is added in it? 
তরেলর পৃŸটােনর সংjা েলেখা। উহার SI একক কী ? জেল সাবান েমশােল জেলর পৃŸটােনর ওপর 
কী pভাব হয় ? 

1+1+1

(b) Which method and instrument are used for measuring surface tension of a liquid? 
েকান ্  পdিত ও যnt বয্বহার কের তরেলর পৃŸটান মাপা হয় ? 

1

  

4.  (a) Why is viscosity termed a ‘dragging force’? How does the viscosity coefficient of 
a liquid vary with temperature? 
সাndতা েক ‘pিতেরাধী বল’ বলা হয় েকন ? উŹতার পিরবতর্েনর সেñ তরেলর সাndতােìর িকrপ 
পিরবতর্ন হয় ? 

1+2

(b) Explain why the viscosity of ethyl alcohol is greater than that of dimethyl ether. 
ডাইিমথাইল ইথার-এর tলনায় ইথাইল অয্ালেকাহল-এর সাndতা েবিশ েকন বয্াখয্া কেরা। 

1

  

 Unit-III / একক-৩ 

5.  (a) What do you mean by the unit cell of a crystal? What is plane of symmetry of a 
crystal? 

একিট েকলােসর একক েকাষ বলেত কী েবােঝা ? একিট েকলােসর সাময্তল বলেত কী েবােঝায় ? 

1+1

(b) What is liquid crystal? State an application of it. 

তরল েকলাস কী ? এর একিট বয্বহার উেlখ কেরা। 
1+1

  
6.  (a) Calculate the number of atoms in a unit cell of a face-centred and body-centred 

cubic lattice. 
একিট পৃŸ-েকিndক ও একিট েদহ-েকিndক ঘনকাকার sিটক জালেকর pিত একক েকােষ পরমাণুর 
সংখয্া গণনা কেরা। 

1+1

(b) What is meant by Miller indices of a crystal? The Weiss indices of a plane of a 
cubic crystal are found to be ::1  (1: infinity : infinity), find the Miller indices 
of the plane. 
একিট েকলােসর িমলার সূচক বলেত কী েবাঝায় ? একিট ঘনকাকার েকলােসর একিট তেলর ওেয়ইস 
সূচক হল ::1  (1: infinity : infinity), এর িমলার সূচকgিল িনণর্য় কেরা। 

1+1

  

 Unit-IV / একক-৪ 

7.  (a) Write down the expression of temperature dependent Arrhenius equation on 
reaction rate explaining the terms involved. 
বয্বhত pতীকgিলর বয্াখয্াসহ িবিkয়া হােরর উŹতার উপর িনভর্রশীলতার আরেহিনয়ােসর 
সমীকরণিট েলেখা। 

2

(b) What is meant by ‘Zero order’ reaction? Give one example. 
‘শূনয্ kম’ িবিkয়া বলেত িক েবােঝা ? একিট উদাহরণ দাও। 

2
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(c) Deduce an expression of rate constant for a first order reaction assuming the initial 
concentration of the reaction as ‘a’. Also, deduce an expression of half life period 

)( 21t  from it. 

িবিkয়েকর pারিmক গাঢ়t ‘a’ ধের pথম kম িবিkয়ার হার rবেকর একিট সmকর্ উপপাদন কেরা। 
এর েথেক অধর্ জীবনকাল গণনা কেরা। 

2

  

8.  (a) For a first order reaction, time for completion of 50% reaction is 30 min. Calculate 
the time taken for 87.5% decomposition. 
একিট pথম kম িবিkয়ার 50% সmn হয় 30 িমিনেট। তাহেল 87.5% িবিkয়া সmn হেব 
কতkেণ ? 

2

(b) Write one method for the determination of the order of a reaction. 
িবিkয়ার kম িনণর্য় করার একিট পdিত েলেখা। 

3

(c) Give an example of a parallel reaction. 
সমাnরাল িবিkয়ার একিট উদাহরণ দাও। 

1

  

 SECTION-B / েËণী-খ 

Answer two questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট dিট  pেűর উtর দাও 

 Unit-I / একক-১ 

9.  (a) Write down the Born-Lande equation for calculation of lattice energy explaining 
the terms involved. 
বয্বhত pতীকgিলর বয্াখয্াসহ জালক শিk িনণর্য় করার জনয্ Born-Lande সমীকরণিট েলেখা। 

2

(b) Discuss the structures of the following compounds on the basis of VSEPR theory: 
VSEPR-তেttর আেলােক িনmিলিখত েযৗগgিলর গঠন আেলাচনা কেরা। 
(i)  PCl5  (ii)  SF6  (iii)  BeF2 

2×3 = 6

(c) Explain why the melting point of NaCl is higher than that of FeCl3.
NaCl-এর গলনাì FeCl3-এর tলনায় েবিশ েকন বয্াখয্া কেরা। 

2

(d) Comment on the dipole moment of CO2 and SO2.
CO2  এবং SO2-এর িdেমr Çামক সmেn মতামত দাও। 

1

  
10.(a) What is meant by hybridization? Explain the structures of CH4, C2H4 and C2H2 

using this theory. 
সংকরায়ন বলেত কী েবােঝা ? এই তেttর সাহােযয্ CH4, C2H4 এবং C2H2-অণুর গঠন বয্াখয্া কেরা। 

1+3

(b) BF3 planar but NF3 pyramidal — Explain. 
BF3 সমতলাকার িকnt NF3 িপরািমডাকার — বয্াখয্া কেরা। 

2

(c) Draw the MO diagram of oxygen molecule and calculate its bond order. 
অিkেজন অণুর MO িচt অìন কেরা এবং বnনkম গণনা কেরা। 

2+1

(d) NaCl is soluble in water but not in benzene — Explain. 
NaCl জেল dবণীয় িকnt েবনিজেন নয় — বয্াখয্া কেরা। 

2
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 Unit-II / একক-২

11.(a) Give a comparative study of F, Cl, Br and I with respect to their (i) oxides 
(ii) hydracids. 
F, Cl, Br ও I েমৗল সমূেহর (i) অkাইড সমূহ (ii) হাই»ািসড সমূহ এর সােপেk tলনামূলক 
আেলাচনা কেরা। 

2×2 = 4

(b) What is electronegativity? Arrange the following elements with increasing order of 
electronegativity: 
 O ,  N ,  F ,  C 
তিড়ৎঋণাtকতা িক ? িনেmাk েমৗলgিলেক kমবধর্মান তিড়ৎঋণাtকতা অনুসাের সাজাওঃ 
 O ,  N ,  F ,  C 

1+2

(c) In presence of glycerol boric acid behaves as a strong acid — Explain. 
িgসারেলর উপিsিতেত েবািরক অয্ািসড তীb অয্ািসড rেপ কাজ কের — বয্াখয্া কেরা। 

2

  
12.(a) Discuss the hydrides of nitrogen and phosphorous in a comparative manner. 

নাইে¹ােজন ও ফসফরােসর হাউ»াইডসমূেহর মেধয্ tলনামূলক আেলাচনা কেরা। 
3

(b) Explain why: 
েকন বয্াখয্া কেরা। 
(i)  At room temperature CO2 is a gas while SiO2 is high melting. 
 সাধারণ উŹতায় CO2 একিট গয্াসীয় পদাথর্ িকnt SiO2 উc গলনােìর কিঠন পদাথর্। 
(ii)  SiCl4 hydrolyses but CCl4 not. 
 SiCl4 আdর্িবিųŶ হয় িকnt CCl4 হয় না। 

2×2 = 4

(c) Why SO2 shows both oxidising and reducing properties? 
SO2 জারণ ও িবজারণ উভয় ধমর্ই pদশর্ন কের েকন ? 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 
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